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Draw schematic diagram showing interrelationship among various
components of production system.

List various information required before start scheduling.

Explain following terms in brief with reference to sales forecasting.
(1) Trends (2) Cycle (3) Irregular variation (4) Seasonal variation
Justify the role of information system in taking qualitative decisions.

Refer following data.

Time: 02.30 pm - 05.00 pm

Job
No

Quantity
required
per month

Machining time in hrs
Broaching M/c | Gear Grinding
M/c

Shaping M/c

1 0.8 0.1 0.7 2000

2 -—- 0.25 0.75 800

3 0.3 900

Take Utilization factor 0.9, Efficiency 0.85, No of hours planned
annually is 3600; for each machine. Calculate no of Broaching machines
required.

What should be the criterion for selecting DBMS software?

What is the need of demand forecasting?

Sale of pumps for M/s XYZ Ltd is as below.

Month | Jun’06 | Jul’06 | Aug’06 | Sep’06 | Oct’06 | Nov’06

No’s 185 200 205 195
sold

215 210

Calculate the demand of pumps for Dec’06, if weights are 0.5 for the
last month, 0.3 and 0.2 for the previous months respectively.
OR

Explain following terms with reference to forecasting error.
(1) Mean Absolute Deviation (MAD) (2) BIAS
List various methods used for sales forecasting.

Differentiate between process layout & product layout.
List various strategies adopted in Aggregate Production Planning.
What is the importance of Aggregate Production Planning?
List various documents referred for MRP.
OR

List the factors on which the no of machines required for a given
products of an industry is calculated.
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Illustrate Aggregate Production Planning with suitable example
Represent MRP-II using suitable diagram.
How PMIS will be useful in improving the industry’s performance?

Referring to Johnson method, write rules deciding the sequence of jobs
when each job is processed on two machines.
Draw various symbols used on Gantt Chart.

Name various DBMS software available in the market. What is the
significance of data-type in DBMS?
Write short note on ERP.

OR
What care must be taken while designing a database?
Write short note on Critical ratio scheduling
Write short note on communication protocols
What are the objectives of the scheduling?

Differentiate between any two DBMS software.

Justify that “data is precious”

Design a database to get following information for M/s India foundry

who supplies various cast products to its customers. (1) Customer wise

annual sale (2) Total weight casted per year. Also draw bubble chart
OR

Write short note on computer networks.

What is the role of DBA?

Design a database for an engineering company to get following
information

(1) Annual expenditure on raw material (2) raw material in stock at any
point of time. Also draw bubble chart.
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